The original machine comes with a small antenna can not receive HF, HF antenna
length should be at least 7 meters preferably greater than 10 meters, or can not receive
HF.

¥4 SDR#v1.0.0.1331 - IQ Imbalance: Gain = 1.000 Phase = 0.000”

RTL-SDR Controller X
I - S—
— 11|
= > H 0 i Device R820T
| [ceneric RTL28320 OEN |
Sample Rate
(RTL-SDR / USB N (1.8 Kses |
¥ Radio ling Mode
{Direa sampling (@ branch) VJ
NFN (@) AN LSB USB \
¥FN ()DSB ()C¥ RAY V|RTL AGC
Shift 0 RF Gain
Filter |Blackman-Harris ¢ 'i
Bandwidth Order
28000~ 500/~ Frequency correction (ppm) 01
Squelch OV Shift =
50 6002
Step size
Snap to grid [V] [1 kHz M|
Lock carrier | | Correct IQ [v
Swap I & Q[7]

Using the following method can improve the receiving of the antenna (For
reference) The antenna is suitable for both UV and
HF

http:

www. radioamatoripeligni. it/i6ibe/balun9al/balun9al. htm



http://www.radioamatoripeligni.it/i6ibe/balun9a1/balun9a1.htm
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